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Topic:- Child Development & Pedagogy (CDP)

1) is associated with retardation in various aspects of development / foera & fafta tI'E,'TjGﬁ o tigar I \‘3’3‘1 gl
1. Medium Intelligence / HEIH Eﬂ?

2. No Intelligence / S g’@' CE|

3. Higher Intelligence / 3T g@'

4. Lower Intelligence / #G Ej[?&'

Correct Answer :-

« Lower Intelligence / FG gﬁg’

2) In child centred education, what the child has to learn should be / STd-¥fgd & &, T=a F1 & d@am TIRY, a8 ﬁm@’aw
et TIfRT:

1. Judged through activities /IfATATATT & FACTH A

2. Judged by the scores of their test results/3Tdh U URUTEAT & 3T &

3. Judged according to the ability, interest, capacity and previous experience of the child /Id & J9IdT, T, &TF7aT IR WSl AT &

4. Judged according to the previous experience of the child /I=d & TS AFHT Gil AR

Correct Answer :-

« Judged according to the ability, interest, capacity and previous experience of the child /g=af &1 9T, T, e1ar 3R oo AT &

3) Child centred education typically involves: / STeT fgad I & 3mA at W AT afde g &
1. on the spot assessments/?ﬂ'ﬂ' a1 #Ald W QIFJI'chT-f

2. no Assessments /IS EFLFJIEF[ G}
3. more summative assessments /37T JHTcHD ?FLFJI?IF{

4. more formative assessments /3 TTATcHD Hedidhd

Correct Answer :-

« more formative assessments /310 TTATCHD dicrqichd

4) Which of the following are features of progressive education? / Trafaf@a & ¥ Fia-d yerfaehe Raw Fr Q[dvae 2
1. Instructions based solely on prescribed text books /ﬁé’?T Faa AaiRa qrod W oY 3T ?ﬂ?T %I

2. Flexibility on the topics that the student would like to learn/3e fawai W Fogar (Feifdaiafeoed) st o= d@ar ard &

3. Emphasis on lifelong learning and social skills/SfaeT T&=d 31T 3R @enfaie Hierer R SR 4T

4. Emphasis on scoring good marks in examinations/USI&TI31 & 3T 3 ol WX SR ST

Correct Answer :-



« Emphasis on lifelong learning and social skills/Sftae Ted e 3R Tnfee Pl ) SR ¢
5) Performance intelligence is measured by: / geeieT iﬂjﬁ' F faqT & SART AT STt &

1. Verbal Ability/ FIT&® &7eTar

2. Comprehension / HHAST

3. Numerical Ability / TE&ITcH® &THAT

4. Picture Arrangement / TIF =aeem

Correct Answer :-

« Picture Arrangement / /T cgaer

6) "A thing can be learnt by the study of it as a totality" This statement is based on which learning theory / "Us& @NeT F FHAAT F
T H 30 HEAAST & HIE@T A1 FhaT 1" I§ FIF Fw RNawor Rgwia w smalRa &

1. Instrumental conditioning / E’R%Tﬁlﬁ FHIRATAT

2. Insight Classical conditioning/ 3idef® RRUABT Urggaa (dSe Fornfleher Harafaa)
3. Trial and Error/ W-gﬁ' ey

4. Classical Conditioning/ TRUTABT Ureepera (FFelTileher hETRfeir)

Correct Answer :-

« Classical Conditioning/ RRUATET UTefelet (FeTfieher eheterieiar)

7) The word ‘consistency’ is associated with: / g “HTHIET” m g %:
1. Personality / &afthed

2. Attitude / HATGRT

3. Intelligence / Ej@'

4. Motivation / SROT

Correct Answer :-

« Personality / Tdfthcd

8) The prejudice against a person on the basis of sex of that person is ./ F FFT F R F IR W), 39 ¥ § R
qaTIE (TETITe) g 21

1. Gender stereotype / A1 Ffgargar (sisy FERAeEY)
2. Gender bias / Sfaleh ASHTT (SiEX AB3)

3. Gender identity / SifaTh UgdTe (SisY 3TSSTeT)

4. Gender issue / oifTeh LT (SIsT ET)

Correct Answer :-

« Gender bias / offfeh AGHTT (ST=T ATS374)

9) The smallest bone i.e. stapes in the human body is in the ear. /AT R & Fa@ N 33?1 I T FT F gt
gl



1. Inner / 3&X

2. Middle / &= &

3. None of these / B?Fﬁ pe) aﬂ's‘ F‘ﬁ
4, External / dTgX

Correct Answer :-

« Middle / &= &

10) The last stage of psychosocial development is / AAATHTITSIG fasra &1 3ifas =or § -
1. Identity v/s. Confusion / Ugdle SIATH HHA

2. Trust v/s. Mistrust / fo4ma g=mer 3rfasamg

3. Generativity v/s. Stagnation / 3Gl dTH SeTd

4. Integrity v/s. Despair / 3@l TATH AR

Correct Answer :-

« Integrity v/s. Despair / 3@l TATH AR

11) The study of same children over a period of time is known as study. / T UG 877 1 3@ § v g@e a=ar
& IFegTT Y HEYIA F T H AT AT B

1. Longitudinal / 31J&%d (Sieelicgsad)
2. Cross-sectional / UTAfA&ATcHAS (1T TarreTel)

3. Latitudinal / 37877 (S EIcgsae)
4, Experimental / U3

Correct Answer :-

« Longitudinal / 34%?1\'?1‘[ e ECE)]

12) Which of the following is a limitation of Eclectic counselling approach? / S=ifaf@d # ¥ Fla-l ggorlld wHet e
(SFAFer Fr3AfaT THE) H AT &2

1. requires highly skilled counselors to handle the dynamic feature of this counselling approach / 38 WS TRPOT i TTTHD AT
& R N & T 3cafe AT TANSTATHT A TS Bt B

2. more flexible approach of counselling / WRAY P 3R ﬁﬁfw EECII
3. more cost effective & practical approach / 37cafd® ysTdY 3R caraeiRe ef@dor
4. more objective & coordinated approach of counselling / WA & 3P 8T 3R gACAT TiRpIoT

Correct Answer :-

« requires highly skilled counselors to handle the dynamic feature of this counselling approach / 38 WS TRPOT i TTeTCHD FAATAT
& R wa & T 3aRe AT TAASTATHT A TS et ¢l

13) Which of the following is the best way the teacher can guide children with special needs in school education? / fAF=Tfari@a qa
Fia-a1 ol ¥ owd 5 R Rggmert Rar & Rdy smaegswanEt ao gob@t @1 aveds &1 a5 82

1. Give higher challenging tasks / 37T gc_-ﬁFh"{Uﬁ' P T
2. Give more tests / 3TQeh TLETOT ST



3. Providing support and tips / T&IET 3R g&ra Gl
4. Provide more homework /310 T U&Td T

Correct Answer :-

« Providing support and tips / TEIT 3R gra Gl

14) Which of the following is an example of a lower order need in Maslow’ hierarchy of needs? / Frafaf@a & ¥ sl ar A &
HARIFAHT F TeTIHA # fAFTasd FH $T AEIFAT FT T 3G 5?2

1. Esteem needs / T &l AIHATT

2. Self-actualization needs / 3TcH-AIT PN TALIRATT

3. Safety needs / {I&TT f TaIHATT

4. Love and belongingness needs / TIR Ud 30U $HI HTARIHATT

Correct Answer :-

« Safety needs / {I&TT B ATAIHATT

15) Which among the following types of intelligence would be most used when trying to navigate through traffic? / fA=faf@a qX
e gHR 1 95 FT 39, I F ATIA F AT FA A FRAT FWQ qHT AT STeem?

1. Naturalistic intelligence / WTpfahardl gig
2. Spatial intelligence / FUfAD i

3. Interpersonal intelligence / Jadafes g@'
4. Emotional intelligence / #HTdATcHD gﬁ

Correct Answer :-

« Spatial intelligence / TATfA® E‘[@[

16) A child receives a star for every correct answer she gets. What reinforcement schedule is being used? / & §odl HI g Hgl W
¥ fav ve wer Baar ¥ B gedaor ey #1 s9Aer B o e

1. Variable ratio reinforcement schedule / TRGTAT AT FESIhIoT g
2. Intermittent reinforcement schedule / 3TeRTTAS FEIhIOT ITHT
3. Partial reinforcement schedule / 37TfRIch HESIhIOT JHIEE!

4. Fixed ratio reinforcement schedule / faf&ra 3iegard Qﬂ_@élaﬂu 3-]@?@

Correct Answer :-

« Fixed ratio reinforcement schedule / TR 37U Fedrehor 3gqE

17) One of the characteristic features of a Constructivist unit of study is that: / 3T€IdeT 1 TF TATCHSAEG sﬂw'lé' # T Reyar
TT T

1. Tt starts with what children know as an effective departure point for the lessons. /S8t YB3 saY @1 & 6 a0 urs & forw e
g e fig & ¥ @A S

2. Tests and assignments are aimed only at assessing the lower order thinking skills. / ST (@%<) 3R Bad a7 (3E) &1 3227
had A T T Bl B AT BT el §l

3. It is propagated solely through teacher instruction. /I% ‘{Uﬁﬁi Retr & AT & AT F yaTRA A Sar B

4. Asking questions is discouraged in the learning process. / U4 Y&l 3T & ufthar & gdicaTied AT §



Correct Answer :-

« It starts with what children know as an effective departure point for the lessons. /Z8ehT YB3 5Od gl & fh a=d ure & fow
gl AT fig & T T S B

18) Reading skills can be best developed by: / & ierel &Y 37 TiHAT qanr R 3ed e QAFfa fFar &1 9 €
1. Writing answers / 30X for@er

2. Playing word games /doing quizzes / as NA Weld1 / Fast HLar

3. Focusing on the use of words in the text / UTS & Uea] & STINT W I Higd AT

4. Doing vocabulary exercises / UeGTdell HFITH el

Correct Answer :-

« Focusing on the use of words in the text / UIo H Ul F SUAT U AT bigd bLel

19) Irrespective of the kind of impairment, all children are capable of: / fF®} &R & rwwdar & amaqg, Wit a=d e & wareA
A &

1. Movement / Telel

2. Hearing / ﬁﬂﬁ

3. Learning / @@

4. Seeing / @A

Correct Answer :-

« Learning / 1@t

20) What are inborn patterns of behavior that are biologically determined also called? / TIGgR & SeAld dea &t Sa-fA=mT &
IgeR Uil o §, 3¢ ae oft F1 e &

1.1d / Ugdl
2. Drives / 3I5d

3. Instincts / "Hgol <Al

4. Intelligence / gf&aT

Correct Answer :-
o Instincts / "ol I

21) What are the symptoms of Post- traumatic stress disorder in children? /geal & TR¥-3TaId da1d {A$R (IFe TARE W
B3HTET) & oaTor Fr &2

1. Avoiding places or people associated with the event./ €T & @%’ TAAT IT PN & T

2. Having to think about or say something over and over. / IR-IN & Fgel AT 3UP G A Arge|
3. Not have an interest in other people at all. / Z‘@ff E:) ﬁ?@‘ﬁf wa @

4. Becoming annoyed with others./ ?.‘,:Hff ¥ AR BTl

Correct Answer :-

« Avoiding places or people associated with the event./ Tl & @%’ TATAT A7 N F T



22) What type of theory is one that proposes that development depends on things that are inherited through genes? / & J&R @1
Rigeia a7 gvqa a1 ¢ B Rew 3a0 NSt w ek e @ ot e & amegs § gamra §2

1. A deterministic theory / T faafdare Rgd
2. A social theory / T®h THAToIh [gId
3. A nature theory / T ‘;I'I?fﬁ'cﬁ Tgid

4. A nurture theory / Teh UTel-GIWoT fagid

Correct Answer :-

« A nature theory / Teh UThider fagid

23) What type of thinking is associated with creativity? / fF@ YR &1 Riaa Wﬁﬂ?ﬂ ¥ gafta gar 82
1. Convergent thinking / 3THIRT &=

2. Divergent thinking / 37eldT T

3. Insightful thinking /3{deT8 T (SAa@cHa TAfhaT)

4. Transductive thinking / URSYF A (Tiasidea AfdHr)

Correct Answer :-

« Divergent thinking / 37T &I

24) Who introduced the theory of Universal Grammar in language development?/ #T9T R&m # gfagda 7w & Rguia &t fFaa
qer fRam?

1. Piaget / TOTS

2. Vygotsky / aTEINcET
3. Skinner / @R

4. Chomsky / TfFgaT

Correct Answer :-

o Chomsky / it

25) Intelligence is a product of both and environment./ W, 3R vafawer gt 1 vF I g
1. Culture / TEpfd

2. Community / HHcTT

3. Heredity/ 3TeJafRrehdr

4. Society / HHATST

Correct Answer :-

« Heredity/ 3TTedTuehc

26) The Minnesota Paper Form Board test is a test which measures one’s ./ Asder 9 ®iF AE qdeqor, T
gfiator § S Rl Y ATGCT B

1. Verbal Reasoning/ FAif&@® aF
2. Aptitude/ FTIAT



3. Personality/ Zahcd
4, English Skills / 3731t @ierel

Correct Answer :-

« Aptitude/ TIFT

27) A student is asked to find different methods to evaluate the value of pi. This would mainly involve which of the following operations? /
TF BT H NIATE F ATT T HediheT T & (AT fAfNeet JUITe! H AT FA & AT FeT AT o1 587 A&T ™0 § Fwafaf@a & & s
T TR AT gem?

1. Evaluation / FHeidhed

2. Convergent thinking / 3TTRARY Ride
3. Divergent thinking / 3TTERI Ridar

4. Learning / 37791

Correct Answer :-

« Divergent thinking / 310X Rid=

28) Classical conditioning was developed by: / FaTfsd Fearrfaer (Rrufaffsa wqgas a1 area sreeeya) e & &
e qarr Refa = &

1. Bandura /ET'U§'{T
2. Pavlov / UTdelid
3. Kohler / BIgeR
4. Piaget / fOamay
Correct Answer :-

« Pavlov / Urdelia

29) Selecting specific stimuli through sensation is a characteristic of: / TdeT & wreaw | Ity B‘Eﬂ'CF-l BT TG B BT FUEr %:
1. Attention / 3TdTeT

2. Critical thinking / 3T&<T Ride

3. Concept / ITYROT

4. Perception / T

Correct Answer :-

« Perception / ST

30) Animism is the belief that everything that exists has some kind of consciousness. Which of the following does not describe the idea of
Animism in children at the pre-operational stage of development? / '\"ﬁﬁqaﬁ g ﬁ%{m % fo =it PO ot Tﬁq@' % aw?r frd yoR B
a1 71 Fufafaa & @ w1 faerm & gd-ufares R R s=i A gafeare & faar &1 quf= 98 s-ar g2

1. A child who hurts his leg while colliding against a chair will happily smack the ‘naughty chair’./ Teh g<dT I Th W q T gv 3qa
U P Te ggarar &, Gl @ RRA i P gdher 23|

2. A child dresses up as ‘fireman’ for a fancy-dress competition / HFelt 38 gfaaifrar & forv v gwar AT & ® F AR gar gl

3. A high mountain will be thought of as ‘old’/ TUeh 3 Tdd P "YIAT AT SATTIT|



4. A car which won’t start will be described as being ‘tired’ or “ill’/ T HR 5 Aw & Trar STwenm 38 g g3 AT AR =T
ST |

Correct Answer :-

« A child dresses up as “fireman’ for a fancy-dress competition / thell 38 Ufafar & foT tF I=ar BRRAA & §U F AR T &l

Topic:- General Hindi (L1GH)

1) ‘H&T MIF & I A o T F @ &
TE AT Yo FHAGR et g6 off

IE T AR F BT HE ¥

a1 3w Ry

1 dea Tt W@ 3 aren gy F1 B Redar
AET MAF F IRF H

a§ et Ao Premar smar @ g w1 &

IAF 9 Hay N IR a=l F Forer A

@ gF g §

T A9 & FEH F ATTR

T ST § HEFHAT §I T IAGE A

T HAGHR § TUE F WA T §

SR WATT @ AT AF F IS eI g3 WA
9 3W g Rarr @ su THvT

s9 g7 AR ar

aRECaF #H 9 doo AT § IHST AT

WM FrY BIEdl g6 SeATE 3 gielm gam

A § T AT FE AT gan

st FET AT F TTEW AUTA

FE ¥ TAT AT ¥ FAGER F FR

Feft-gaft a7 aF & & A ¢ 3HwT Wy

g g0 & AT F a7 3hem A ¥

3 77 F B @ T o wehar
AT ST THT I

IR 3w e H S vw RuF wE gars &ch ¥
T YA TR F FAT T 35T A A P F

39 fawerar adt

SHA AT FAFT S ARl

e a7 gg@ir F TeE AT F I q 92T FT el aase]
geaT: 9RO FrY oiEe g¥ 3T QI §IT, W GFA A F-AT ereq AL §?

Correct Answer :-

. 3CHTE



2) HET AAF F A W AN TR FT W et
TF AT YaX FAAR Frocht g§ off

T [T ATF FT O S §

a1 s Rsy

a1 Ygo T e I arer Y F A RedEr
AET M F IRA A

a§ 9l Ao THamar amar ¥ e Fer &

AAF A Hay A AR a= F Forer F

& g g ¥

ar 9§ WEH F AT

TAT AT ¥ HCHAT I T IAeE A

a9 IEER & TS F TS @ §

SHAT wAEdT @ HET T F1 G e g WA
S 3% 91E Rar g 3 FUIT

9 g Afaf@ar ar

ARETaF A I 5 AT § IHFT TAAT

UROM AT SISl §§ SeATE 3T gie gam

A § U@ ST FE P gan

! 7ET T F G Furer

FE ¥ T AT ¥ HAGHFR F FR

Fofi-welt @g af & & &ar ¢ 39w WY

Ig sa & v F ag rker & §

3R aE fF T @ I ST FaT §
ART ST T [T

3R 38 I A A F Raw qw s &}
TT YA TR P FAT T 356 A A PR F

39 Rwerar 7t

3UHT ATIAT FAST A AR

R 7w ggzier F TeF AT @ AW TS FeA F Seal TARBTI
W a% Yoo gaHT HER A qTeT g F FAT @ AT §7
1. A TINTHR

2. A% RedeR

3. PS5 HeOH

4. B PR

Correct Answer :-

RS AR

3) AT TAF F T A o T F dr &
TE AT HeX FAGR et g6 off

aF ATT TAF FT OreT 71§ ¥

a1 39T sy



1 dea TRt WE@s 3 aren gy F1 7S Redar
AET MIF T IR A

a§ et Ao Fremar smar @ e Fa &

IAF 9 Hay N JARed a= F Sorer A

@Y gF g ¥

T 9N & FEH F AT

T ST § HEFHAT §I T IAGE A

T HAGHER § TUE F WA T §

ST FAEaT & qEw AT NS ger gI I
9 3W g Rarar @ sua qHu

9 g AR @

aRECaF #H I doo 9T § IHST AT
Wwa\sﬁﬁmmsﬁmgm

TS @ T@ ST o e gan

st TAET AT F W AUTA

FE ¥ T AT ¥ FAGFR F FR

Fweft-gaft a7 4F @ & A ¢ W Wy

g Ia & AT F a7 3rhem A ¥

3 77 F B @ T o wehar §
TMTET?_F‘TI'TFT

3R 3 IS A o v Ruw @ s & ¥
T YA TR F FAT T 3o AT A P

39 fawear agt

SHA AT FAFT S ARl

T 1w gg@ir F TeE AT F T a 92T FT el Iqsv]
geeT: TUT FY AQ §C qF S FACAT § ATA AAF FT NS FeT FIA.... ?
1. H1HAH

2. afvoma

3. GFAT

4, 3ifda

Correct Answer :-

4) AT TIF F G AX A T F AT A<
TE AT Y FHAGR et g6 off

IE HTT AR F BT HE ¥

a1 3uH sy

1 Yo TRt WEe 3 aren gy F 7S Redar
AET TIF T IR A

a§ et Ao Fremar amar @ e w1 &

AAF G Hax A Ffee A=t F siorer F

@ TH T ¥

I YA § FEH FT AR



TAT TG § HCHAT I T IS A

T WIAAHR & TATE FT TS @T &

SHAT wAEdT @ HET TEF F1 G e g WA
3+ 3 g R @ sHF TET

9 9§ Afaf@ar ar

ARECaF # T o AT § IHFT TAT

RO AT SISl §§ SeATE 3T gie gam

IES § U@ AT FE AT gan

! 7ET T F G Furar

FE ¥ AT AT ¥ HAGFR F FR

Fofi-weft ag Af & & &ar ¢ 39w WY

Ig 9 & fov B ag rdem 7t ¥

3R aE fF T @ I S FaT §
ART ST THT [T

3R 38 IS # A F Raw qw s &}
TT 39X TR P FAT T 35 A A FfAy F

39 Rwerar 7t

3HHT ATIAT FHASAT AT AR

R 7T vgzier F TeF AT @ AW AT FeA F Seal TR
W T AAF FY FAT SUTAT FIATHR Fgl @ TelT Ham 82
1. 4915

2. FUS

3. aled

4. ATATA

Correct Answer :-

5) HET AAF F G W AN TR FT W et
TF AT YaX FAAR Froct g§ off

I§ FTT IAF F BT 7§ ¥

a1 38 sy

a1 dga T HER I arer @ F A RedEr
AET A H IRA A

ag et or Premar smar ¥ e w1 &

AAF G Hax A Ffee A=t F sarer #

& g g §

a9 § WEE F AT

AT AT ¥ HCHAT I T IS A

a9 FIAAHR & TAE FT TS T &

SHAT wAEAT @ HET T F1 G e g WA
3% 9rE RAar g 3T FUGT

o9 g§ AT o

ARACAS & 9 oA FAIAT § 3HHT Tl



9O HRT BISC! g€ ScHTe e g g
m#wﬁwgﬁsﬁwgsrr

et 7ET AT F rew qUTA

FE ¥ TOT AT § HIAHFR FT FH

Feft-gft a5 of & & & ¢ 3HET Wy

T T & R B g e gt ¥

3R 77 F A @ I o wehar §

AT ST FHT WA

3R sEh IS F S o Raw @w g A ¥

AT HIN TR FY ST T 35 A A P §

39 Rwerar gt

SHHT ATSAAT FAS AT AR

e 7w ggzier Ft qgat AT @ T qT WA FT Sea} qaqsv|
W {ET MhF A IR H g A It Fa § Bremar amar §2
1. U #e 8

2. AP A

3. 3MYfAF Frer @
4. ARG P YeIT ¥

Correct Answer :-

o U BT &

6) ATT TAF & AW AF # T F F &M
TE AT eI FAAN Frot g§ off

a§ HTT AAH F BT HE ¥

1 3qT sy

a1 Yea gAY HEe e arer @Y F A5 Reder
qET MAF F WA H

ag et et T smar ¥ aie @

TAF I HR T AR aelt & Forer H

@ I P &

1 I & WO B AT
wm%mgmwm#

T FIAHR @ T F A @ §

ST FAET @ HET MIF F IS FeT g WA
A ¥ T Rerrar @ 3w FH

S9 g8 At ar

AT # S doA AT § IHHT AT

9O HRT BISC! g€ ScHTe e g g
m#wﬁwgﬁsﬁwgsrr

et 7ET AT F lew dUT

FE F TAT HAT ¥ HAGER F EH

Tl aF A1 & & AT § 3@ W

Ig Ta & fov B a8 rden 79 ¢



3t a7 5 R & T o Fwar §

WET?_I_,?TI'TI"T

IR 3w e H S vw RuF wE gars &h ¥

T YA TR F FAT T 3o A S PR F

39 fawerar adt

SHA FSIAT AT S ARl

e a7 gg@ier F JeE AT F T q 92T FT el aaqsvl

Yo AT AT A HH AGS F AT FAER T HAET g A §2

L AR
2. QT
3. U

4. I S AR

Correct Answer :-

o Teo Sl HI

<

7) HET TAF F AT S A TR FT W S
TE AT Y FHAGR el g6 off

TE T AR F BT HE ¥

a1 3w Ry

1 dea Tt W@ 3 arer gy F1 7S Redar
AET MAEF T IRF H

a§ et o Fremar smar @ e w1 &

IAF 9 Hay N IR a=l F Sorer A

& gF g §

T A9 & FEH F AT

T ST § HEFHAT g T IAGE A

T HAGHR § TUE F WA T ¥

ST WATT @ HET MAF F IS eI g3 WA
9 3W g Rarar @ sa FovT

s9 g7 AR ar

aRECaF # 9 doo AT § IHST AT

WM Y Bl §§ SedTE 3 gielm gam

IraS § T AT FE AT gan

st AET AT F TTEW qUTA

FE A TAT AT § WIAFR FT FGR

Fll-waft a7 A & & a1 ¥ 3WET W™

I5 90 F v F a5 3rdem A& §

3k 77 F B @ T o wehar
AT ST THT T[T

IR 3T e H S vw RuF wE gars &h ¥
T HINX TR FY FAT T 35 A S P §

39 fawerar adt

SHA FSIAT FAST S ARl



Rw 7w vgzier F TeF AT S AW TS FeA F Seal TARTI

MR FIAHR F ALIHA § FfY FH 9oR & wFaw i 3R a6a FT @7 §?
L 91y I arelt d AR

2. 9929 # T GREH X arel AR

3. FT HATEdT H 3N

4. 99 arelt fr IR

Correct Answer :-

o JAULT H ITH URHA Bl drel Pl 3R

8) &YW AT & U AW HNY TR FT W et
TE AT eI FAAR Frot g§ off

T AET TIF FT BT 01§

a1 3w Rsy

a1 Ygo Tt e 3 aren Y F1 A Reder
AET MAF F RS A

7 et o1 Frarer smar ¥ o Fe &

AAF A Hay A AR a= F Forer F

& g g ¥

A 9§ WEH F AT

TAT AT ¥ HCHAT I T IAeE A

a9 FIAAHR & TATE FT TS @T &

SHAT et @ HET T F1 G e g WA
S 3% 9E Raar g 3 FUGT

9 9§ Afaf@ar ar

ARECaF # T oA AT § IHFT IAAT

UROM AT SISl §§ SeATE 3T gie gam

A § U@ ST FE P gan

! =T T F G Furar

FE ¥ AT AT ¥ HAGHFR F FR

Fofi-weft ag Af & & &ar ¢ 39w WY

T T & T B ag ke ad ¥

3R aE fF T @ I ST FaT §
ART ST T [T

3R 38 I A A F Raw qw s &}
TT YA TR P FAT T 35 A A PR F

39 Rwerar 7t
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Uddl U dEd  #HigElgedidcdida: #afdl waur #d  AEE
A geeegAfEdl &: fasfivor @efd- #omeafa aufor Hded &
TS| ThaAey HFhR: AATRAY JAT d9 | fhae] #Hed: #ARA: o
AEar faegdsT | 36T Hiadny e, &34, AfadAden I f9ead | @En
qRuTeh: EHRIOT ASAATT TARIOT GR-T Jad |
IEA: THARIVT o shael FETheH, 3T T AU JTARLIRFANT fdezd|

JTRATUMH AR TACATET-
T=ldedH

[EGIEEEIE

{THTIUTH

HETHATITH,



Correct Answer :-

. el + Ulqd:

, Hel{ + HUld:

| FE + U7
, HeT + 3{uia:

Correct Answer :-

_ Hgl + 3fvia:



URTde UTScar UeIEd ﬂagagcdi gad -

AR TEhadecasy  Jfgahreas, 3Aed | fehfa: arelfe: s
WRAdeEd)l  3RAA A RWicaAed AREdegd Silde-
FRFATfATgATEd |
ﬂgﬁézmﬁﬁfﬂzwﬁﬂméﬁaﬁmmzﬁm,mm_
fiaceoraT AR 3 ITGS 8T AYde  IIRAUT  3eeld
FdeAed| TARURY IRd FEAfAd ST-aRaed For amed 3ifog
AT AGGE  JURSET TSy fdead| AR HIAT IJEEATHH
ufafssdr 31fed| 31EA el aEdamHAE 1fdsed ol fagad| 3mgen:
afa:, ameel o oAl 3 Rifeean @fed sRdrr dwpfa: 3feA @l
ST ®UUT AfFegedr add|

dleHch: HAYIEEANEHA e Vo ARSI IGRAT dcicd | qr=mom
AGAREIT fATSTd, SRATT IRAed FAGIedA T | TEART  FHTOAT
T ANH: HAATA-
CRI-CRT SheTAMOT SR T I Sleerdn:| d d o7 g URIIA IF #fdT Helel:|
Uddl U dEd  #HigElgedidcdida: #afdl waur #d  AEE
A geeegAfEdl &: fasfivor @efd- #omeafa aufor Hded &
TS| ThaAey HFhR: AATRAY JAT d9 | fhae] #Hed: #ARA: o
AEar faegdsT | 36T Hiadny e, &34, AfadAden I f9ead | @En
qRuTeh: EHRIOT ASAATT TARIOT GR-T Jad |
IEA: THARIVT o shael FETheH, 3T T AU JTARLIRFANT fdezd|

faeIvorafea-



AT CIEScd e

2. e |
;. IH
. CICEEITG]

Correct Answer :-



TRESE Iidedl T YEHH FaId -

3UAY:  HY: dIEaE egaA: s sl | Ueer dle: gaErfeer -
a: Fawd “ 3 | 3uEey: fear . Afdcar aEERSia ¥ Iwwer
il TSear 9% Fefd - Fel gicd Headtd ? Te:, e T 3Ry ?
3YAYG:- AT I e gicd Hedqana|

& - ATY AHfadey ded AT wHesa |

3UAY: - add HUMA, A =R

3UA-Y: gidied ¥d INd =¥dedd | Hiaudsd: feadsw: 9o d 9=
Toeal % AN - FFYUN THETH 3§ JEontH | el gled Foaaidy ?
3YAY: - TUAT THeT IRE FAS 9 fHen @A |

I%:- UST gfea:  Af¥ar | c@H 3eAw gfed sred | 9o U AT 3R |
3UAY: AT A 3eFcal AH IEAA | Hia9AFd: Eadsd: d IR 9=
Toedl A% UaHAded - €4 #H&T Hgd §HECY UoA: Ul 3T HUH ? e
gied seaatar ?

farser:- e vamer Tar gmer gfed weaanfH |

e a7 9 IUHIFG cATHE A HIMCREA | T &R AT TIPe |

fRrsa: ITeaera, Seauid |

ﬁ;ﬁ’sﬁ?%‘: SR ?

3, €

4, WG

Correct Answer :-



9@l TfSedr NTATESeET Teaed YeHce Fadd -
% FToT: FIfer fATITOT Y 2r: ot sTATITAT |
Wﬂﬂﬂ?lﬁi—?ﬁ@ﬁrﬁmﬂ@g:l

et THIGHES Hed & erHaT are: |

0T TRITHIOT ANT F9T T o T T: ||

Tecdd A U3T: |

g

1. -

cdrl

2.

A
3. c
udd

4. e

Correct Answer :-

¥ eeltent afscar srNfAfisery geaed e Faad -
% hToT; hIfeY TESTTOT T 2T hl TATITAL |
mmaﬁ?ﬁrzgﬁrﬁmmw
Je YHICHEA e 3T T ar: |
YO TRTTRIOT AST *F9T of o Toa T ||
‘A’ 3fd ueH vdd safd |




» adlcHT T S HiUTde: AR |

&d + 3MdTeAT

2.

3 &adr + dHl

,ad + 37TcAl

Correct Answer :-

. GadT + 3TcH
* oot afsear IrRfAfETeET geAET qEHR AT -
N3 QIVT: T&YUIE gldcdT s{faAeadT |
fYGT ToaT 9720 ShTer: 3TTered ST ||
A &g g fEar oiie ad o Taguesn |
A I AT dlleh o dseagaesan ||

YUTEAT AT Ueidese: Ud sfafd |
. Qi'@?énﬁ?]l

) ﬁ'@+3t§§ﬂl
. §E+3t§§:ﬂl

QTQ+ Tl
4. e |

Correct Answer :-

| g@+gTodr



el afdcar NTATESeE T Teaed YeHce Faad -
N3 GIVT: JEYUIE §Tdedr $ffdiHesdT |
fo¥eT Toar o7 shier: 3TTered STERga T ||
3 hide g AT elidh T of TaqEes |
A hiId e dieh ad dseagaesn ||

ad vdgel g:f@gar: |
1 2 ﬂ?:[‘
Feaqarie

T

3

3T H

-
4,

Correct Answer :-

) ealient fdear srifafesery veer eEdcal guad -
NS GINT: JEYUIE BlcicdT i H=sdT |
fYaT doaT 130 IRT: ST STErgAdT ||
¥ thfde g fEar dsh 7d o TaguTsaT |
A I GRACT olteh T e aqE@es T ||

ad vaget g:@?ﬂ: I



HIH

4. -

Correct Answer :-

IRTBE ISl TeATT ASHH AT -

3R WY: diraer seaae: e e | wear diE: gerfged -
M waEs ¢ gfa | 39Eey: Rar o Afdcar semmesfa ¥ iwwer |
dieT sgdl  a[%: dgid - el gicd Feadiy ? Te:, 9 oI 3| ?
3YAY:- A ! THErr gicd Sedqana|

e :qﬁraqﬁéatra‘-‘r&trm wesa |

39HY: Hﬁ‘q’wﬁﬂ’raﬂaﬁn

3UA-g: idfed ¥d IRd =udedd | Hlaudsd: Redsy: oo d 9=
Toeal % AN - FFYN THEH 378 JEoNtH | el gled Foudiyy ?
3YAY: - TUAT THET IR A O fHeT WA |

- UNT gicd:  sAlfadr | ca# 3w gicd arad | o Ta AT 3R |
3YACY: AT 3id 3eFcal A 3Wad | HiawdEr: Gadsy: 7 R 99
TSeal % UaHAded - €4 Hed Hgd @AY T U 3T SUH ? e
gicd Feaafd ?

farsa:- 3mard TarET aTar 9IET gicd dedarta |
e~ 36T T IUHIFG caTHg o JMEH | IEr & AT T |

fors: IR eaw’d |

AT GTHT 39A-Y: Jicd Headid ?



1

1.

2.

3.

4)
UR=ac gfdcar ueaEd AGHCH FIId -

AR TEPAdecasyd Ifghread, 3fed | fehfa: aredlife: s
WRdeEad)l  RAA g REVicaRed AREdegEd Silae-
EIREC D ErEIt )
e AR Fan o AEw O AV W BN, T -
fiaceoaT  HRAE, 3 ITGS 98T ATde  IIRAUT  3eeld
PdeaAed| TARURY IRd FEAAd cT-aRaed @For amed 3ifag
AT AGET  JUSET TS fdead| R HIAT IEEATHH
yfafSsar 31fedl 3ifers wed aRamsmey s1fadcy aofd fagad| sneeh:
afd:, 3meel @ &R 3 Rfcgan dfcdl #RdR™T d&hfd: 3ifeA sed
HSUT  ®UUT AfASISFAT add |

dleaich: HAYIGEANEAA Hled Yo AR IERAT dcicd | qr=mon
AGAREIUT faRTeTd, SR IRded HdlalcdARRd | TEART Aol
ITd ARA: FHaafa-
CeI-Ce o0 A S/ I Sleedl:| I J ¥ 9 UIMA IF T Helel:|
Udd UGdd d¥d  Algeleediaddiad: #afdl I@u #Jd AREE
FHeRAT geecaAfEdl @: @iy gefd- #olearis duior Hded &
TS| ORI §ERR: AATAY JAT a9 | TR ool FAGT: T
Aral fAegdsT | 36T Hiadny e, &34, AfadAdaen T [9ead | @En
guTeh: RO ASAATT THATIO =T T |
qEAd: THARIYT o hael FAgheH 3T T A0 TARLIR=AT faead|

S 3R FIS ST 0T ST IS
TeisTT &

e o

ARATTEE,



4

s g

Correct Answer :-

| AT gt

1

5)
TRTE gfScdl Ty YGHH Jadd -

THARIUT HERAHTecaed  3MMieehledd 3ied | 3ffeepia: aredife: &g
@WRdeEdl A, AT REcdded ANEdeeE Siide-
IRFAUfATEATET |
ﬂgﬁ'ﬁ%’: dleAITh{8: SdH S¢ Hglhed oo gaior §A: dead, I: ¥9-
fidecorT AR B3R IT6< @8I ATde  JINAUT 3eed
el | TARURY G eI da-aieey fomor aifed 3ifuq
HEAET HAGET JUIsET 3TUsed fagad| HRA™T Hadr e
UfATSasdr 31| A Scd qEIaHHAET 3Tdsed gulsl fdedd| 3Tae:
afd:, el o RT3 Rfegan afed) dRdRr @epfa: 3ifeae, #ed
A  FUUT AT Tod |

dledlich: ATAYTGEAEAA e Yod fAsed FeRar dcdd| qr=mon
auldl, SEeel auid, Ydcar: Aot |, deedw@ gule @aF 3creddi
AGfAREAT faqeTd, HAREFT IRAed FlGedARd | AEHAIRT HTol
Id AAE: safa-
GA-Ge AT & A T Sleeydl:| T < F YIMA IT 1T Felal:|
Tds Uedd  a¥d  Adeediaddad: #afdl {@u JAd AREE
AT geeegAfedl & faslivor aefd- #Rolear= dufor faded
AT | ohaAeTT TFh: AFATY JoT d9 | fhae] #ed: #A«ARa: 9
#ral fdeadsT | 38T iadany e, a3, fadeeT o fdegd| EeEn
gRuTeh: TEHRIOT ASAATT TATIOT G=AT Tl |
IEI: TARIYT o hael FAghed# 3T J JATOIH ARLIEFATT faead|

STRARIT ear 37 yfaftaar 31f&a-



T IATHTAH

1.

N IEEATHA

N TEFTATSE
,, TATELTHH

Correct Answer :-

) et afsear srenfAfivery yeae EAeR g -
% FTol: FTfer THATTOT ST 2T I STATITAT |
FTAETF TN @lﬁ#ﬁgﬁrﬁmﬁ: |
el UHTEHeS Hed & JETHET T |
0T YITRIOT AT hWT o o dea2T: ||

Ud decdl: Hdled |



1.

2.

3.

4.

URTde UTScar UeIEd ﬂagagcdi gad -

AR TEhadecasy  Jfgahreas, 3Aed | fehfa: arelfe: s
WRAdeEd)l  3RAA A RWicaAed AREdegd Silde-
FRFATfATgATEd |
ﬂgﬁézmﬁﬁfﬂzwﬁﬂméﬁaﬁmmzﬁm,mm_
fiaceoraT AR 3 ITGS 8T AYde  IIRAUT  3eeld
FdeAed| TARURY IRd FEAfAd ST-aRaed For amed 3ifog
AT AGGE  JURSET TSy fdead| AR HIAT IJEEATHH
ufafssdr 31fed| 31EA el aEdamHAE 1fdsed ol fagad| 3mgen:
afa:, ameel o oAl 3 Rifeean @fed sRdrr dwpfa: 3feA @l
ST ®UUT AfFegedr add|

dleHch: HAYIEEANEHA e Vo ARSI IGRAT dcicd | qr=mom
AGAREIT fATSTd, SRATT IRAed FAGIedA T | TEART  FHTOAT
T ANH: HAATA-
CRI-CRT SheTAMOT SR T I Sleerdn:| d d o7 g URIIA IF #fdT Helel:|
Uddl U dEd  #HigElgedidcdida: #afdl waur #d  AEE
A geeegAfEdl &: fasfivor @efd- #omeafa aufor Hded &
TS| ThaAey HFhR: AATRAY JAT d9 | fhae] #Hed: #ARA: o
AEar faegdsT | 36T Hiadny e, &34, AfadAden I f9ead | @En
qRuTeh: EHRIOT ASAATT TARIOT GR-T Jad |
IEA: THARIVT o shael FETheH, 3T T AU JTARLIRFANT fdezd|

AT 3T UeET A RUGAGATET-
PHEN

gfedrar
T

HATAT



Correct Answer :-

et afScar srfAfésers e eHea gaad -
NS GINT: T&NOTE gTdedT SffdiH<edT |
foTaT gt &1 ShTer: JTered ST ||
I e g AT dileh Td o TagETo T |
q Hfad AT o 7 dseagusan ||

TATERI0T JEYOT SINT: §TdedT: |



9ol TfSear IENTATGSTET TeaTed YeHcel Hadd -
F: FToT; FIfeT THATIOT T 2T; I STATITAT |
Wﬁﬂﬂ?lﬁﬂ:gﬁﬁmﬂgﬂg |

el UHIEHe A Hed & FeITH= aT: |

FYOT ITIHIOT AST 3HT oF F T 2. ||

ToAH' 31T TIAYUTH 3GA |
THIGhelH

1. -

Jarcad s,

2.

HHIGHCAH

3.

HHIGdGAH,

4.

Correct Answer :-



TR=oe 9fdcar U5y Qéﬁagcdi gaad -

3UAY:  HY: dlEged egaA: s sl | Ueher dle: gaEreRd -
a: Fawd “ 3 | 3uEey: fear o Afdcar wmEERESia ' Ivwer @
die Tseal 9% Fefd - & gicd Feadty ? Te:, 9 T A ?
3YAY:- AT I e gicd Sedqana|

T Hﬁmﬁéa‘zrs‘-‘ra-‘zrm EfHeST |

39HY: Hﬂﬁﬂﬁmaﬂaﬁrl

3UA-Y: Uidied ¥d IRd =¥dedd | Hiaudsd: feadsw: oo d 9=
Tocal % AN - FFYON THEH 378 JeontH | el gled Foagidy ?
3YAY: - TUAT THeT IRE FAS 9N fHew WA |

I%:- oT gfea:  AfEar | c@H AW gfed arud | 9o U AT 3R
3UAY: AT Sfd 3eFcal IMH A | HiaIAFd: BEdsd: d TR 9=
TSedl % UaHded - @4 #Hed Hgd WHECY UoA: U 3T HUH ? e
gicd seaaia ?

farsar:- 3 varar rar e gied FeqanH |

e 7T 9 FUHIFG carHg o R | Iar efR AT FIEe |

frsa: I¥aeras AeaErd |

3UAY: e fRreg: ?
| HUeTEr
, TaHEEr
FUTET

dirara

3.

4.

Correct Answer :-



28) IMeTETTRICHT S AT ied ?
o0

1.

Goo

2.
oo

. &

4 lgoo

Correct Answer :-

lgoo



Correct Answer :-

IR IfScar TeAET Y&HH I -

3UACY: HY: dFTed egaA: s s | ueher diFm: gaErfeR - ¢
M waed ¢ gfa | 3uHey: far oM Afdcar semmesfa ¥ iwwer A
dief TSeal I[%: deid - A gled Houdiy ? Te:, G T HE ?
3UHG:- AT 3! e gicd Seqanta

TE: - AN fedey #deT AT T&Hesa |

3UAY: - d¥dg HAMA, A EE

3uA=g: ufdfed @d IRd =dedd | Hlauded: Rodsw: g d 9=
ToCal % AN - FFYUN THETH 378 Jeontd | el gied Houdidy ?
3UAY: - TUAT {787 IRE FAT 37 fHew =fH |

T&:- T gicd: AT | caH] 3N gicd STad | 9 U9 AT 3R |
3UA-Y: dU7 3 3%Fcal A AT | HiaqAEy: fGaded: d gy 9=
TSeal A% UaAded - §d HET Hgd WA o U 3 HUH ? e
gied Heaata ?

farsar:- e TATET AT 9T gicd FeqdriA |

ol a7 9F: IUHIFG caHE A HIERE | IaT &R AT TIET |

forsa: Ir%aaad, seaEd |

39R-Yg: wAT e FeA wEdafa 2



* fed AAIGTR o Golel T’ AT STFdA T ?
ERIGISGIE]

1. 2

ﬁT‘{ICI'IFlT:I’?}
2.

Tga
3. e |

awefaia

4.

Correct Answer :-

oot ufdcar ENAfiserT Yoy YEHcN HIT -
N3 SINT: ENUIE BlciedT s{fafaes |
To¥eT ToaT 872 ShTer: 3TTered STEHeT ||
¥ hfde g f7ar ol ad F T s |
A SR giEar dieh ad dseagaesan ||

Taerrels RIEUH’ Y Uad Ue geaafd |

deg:
.E—ﬁ'irz
dregaar

3. Y

2

3Tl EIH,

4.

Correct Answer :-



TR=oe 9fdcar U5 Qéﬁagcdi Faad -

3UACY: RY: dFIE egaA: s sl | Ueher dlE: gaEfeR - ¢
ar: Qawd “ o | 39Aey: fear o Afdcar wwERSfa ¥ 1wwer
die TSear 9% Fefd - e gied Headtd ? TE:, G T A’ ?
3UAY:- AT Ml e gicd Seqana
T ﬂ‘ii‘raiﬁéa'«*:ra?ra-'zrm TfFesa |
3IHT: aﬂammm|
3uA=g: fdfed @d IRd =udedd | Hlaudsd: Rodsw: o= d 9=
Toeal a%: AN - GFYUN THETH 378 Jeontd | el gicd Hoadgidy ?
3UAY: - TUAT {787 IRE @A 37O fHew =iA |
%~ vor giea: AfEar | @R AW gfed srad | 9o v AT AR
3UA-Y: dU7 3 3%Fcal A AT | Hiaqdyy: @@ d Ry 9
TSeal A% UaAded - @4 HET Hgd §HECY T U 3T HUH ? e
gied Heaaia ?

- 3! TATET AT IIET gied Heddnid |
ieg:- a7 9 IUHIFG caHE A HIERE | IaT &R AT THIEe |

forsa: Ir¥aaas, seaEd |

mmg:m?rr:ﬁaﬁ ?

2. -

, Tt

4.

Correct Answer :-



@il TfScar FNTATESTET TeaTed YeHcel Faad -

h: ShToT; PITeT THATIOT T G2 i STATIHAT |
FEATE &1 I H oI sfa ey #8408 ||

IG1 THTGHGe e & FTHE a1 |
U7 GAYIOT ANT ST of o docdT: ||

HeHg: Udd e |
P 1, P XY - .

t B
1.

| JTTcAdnadT
JTFRTd:

3.
HTcHAuTFd:
4.

Correct Answer :-
HTcHuTFd:

Topic:- Sanskrit (SAN)

1)

[BEEEARER A
1. 3 |
2. . |
%cd: |
3.
e |
4,

Correct Answer :-



| RIS
ARG |

| HERTSTH |

, ERERUSTRUH |

Correct Answer :-

T |

™ . =

) ~ s
BISAITRME hHId 3=Ad ?

3

e |
2. 5 |
) bl |

, Bad

Correct Answer :-

" 58 WeId: TR A SR -
| T |

| FOHENGH|
HIGAETSE |
3.
HETAERAH |
4,

Correct Answer :-



T

TER: |
1.

HIAE: |
2.

QEuTEE: |
3.
, TG |

Correct Answer :-

, A |
Correct Answer :-

_ HA: |



e |
HTHH |

.

317Rﬁ1'711|

g |

4.

Correct Answer :-

9) ~
[T gid & GHE: ?
[ °
feRMUEYg: |

1.

c
FTIRIMEIG:

2.

[eRIYUIEYE: |

3.

A
SIHIAIG: |
4,

4.



I MG €29 |/ 300 arasdinT: & ?
| W |
T
, BHIIT |
c T
HHERAN |
3.

AN

HdN |

4.

Correct Answer :-

TR |
| @Ee |
4.aﬂﬁﬂ'€|ﬂl

Correct Answer :-

- .
AYEHIGE: |
1.
* ﬁ!‘\ cy |
2.

Correct Answer :-

ETT%}":I



19 o FASHET Afvad: qrefmT F: ?
1.
AfeqaTS:

2.

[ [
Heldl<elH]
3.

ECUEECE

4,
Correct Answer :-



7 o ST T % ?
||

it

, 4

T |
4,

Correct Answer :-

2q |

10

4.

Correct Answer :-

18
19) [ —
AATHG [rd = HdYT=h: -
[

) “ldr-Hgl<d:

, dldeld-Hgl=d:

cletHr Hglad:
3. =

Correct Answer :-

[
SIEEFERE



h il °

RIMNFERE Tadsh: F: ?

21

) )
eril- e ae] -HEale Tiaariadr [&fd: -

3. ~ :

Correct Answer :-

22

' ARETETE S Hd SR dded 2
7
6
e

9

4.

Correct Answer :-



| BUH |
ko
+H |
2.
.
, hdl |

, G|

Correct Answer :-

[

%l |

4, 4
Correct Answer :-

25)
STH-To TS eeT: g WEaeT gad: ?

| AlgET=TE

TR AT A ST

2.

[
; HI%QI';IGI""HM
R IC R EAC EAL =]

4,
Correct Answer :-

T aTeeT ST T /YT TATS: AT9h: 9aa?

26)




e g

4.

Correct Answer :-

27)

SHNEHT JEaH: JT95+: & ?
| TR |
A |
SN o |
3.
FEGNUTHIITE |
4,

Correct Answer :-



[TeThed JOTdT ®: ?
) 90 |

, AT |

§ qriuT=: |

. EIETAR G BN

Correct Answer :-

. AqTEE: |

) HIgaATST

2 EICEIERIFCIRE

, TI'@'*TF@I’&?T@‘T :

) ATATIATSTIT:

Correct Answer :-

TS

™ SR TR Raa, 5fd 7 Fem R e ?
| TR |

, TR |

AT

, PSR |

Correct Answer :-

| HEPTEH |



33) . .
7T, FrTe, e -
1. d |

) - -
) T AT AT 2



| ATeAfHETSI:
TSI A

. HERATSAT:

[
) ERICEIERIECINE

Correct Answer :-

[
EEICEIEPIECILE

, S |

I |
4,

Correct Answer :-



-,

HY: |

1.

, g
S |

3.

.

HH: |
4,

Correct Answer :-

 Seh: oA A |
SR T A |

ST A A |

1. W|
, T

, I
,

Correct Answer :-

Ly



3.
| AT |

Correct Answer :-

15|q|

, SR
, g
4.5”:'a\|

Correct Answer :-

2|



BEUCES
, |

0 |
3.

4.?17_c|§],|

Correct Answer :-

45)

T BTATITH JeATehTa d: SHT qaid -
LRG|

-
, An UemdleH

4 U’ n
B EERIENUE RIEEEE

R RECL

Correct Answer :-

TS THATRI FeATS T

AT |
1.
. -~ © =, |
= |
SAWHANRC
3

TR |
4.
Correct Answer :-

ha} -

47) , oy, o =
A g Qleafe=aa: &: ?



| A |
¥ STY |
S |

4.61r_cI:GJTr'3II

Correct Answer :-

48

2.
3. (=8 C ‘\-é‘\ai
, ATeead:



TE AT AT & S e TAAT 2
| ST
REUILE
|t e
[EEEAGE:F

Correct Answer :-

4.

Correct Answer :-

.@%=Wﬂ=wﬁl

52)

S HFATH FE SHT TIFT: 9 T30 ?
&< |
T
&2 |
R
ey

A |
4. -~

Correct Answer :-



FHRERTEY |

4.
Correct Answer :-

55)

T Ta: SeaSTay e AT -

RLE
IERIE

2.
I

3.

, 29uT

Correct Answer :-

IHTA:



56)
TTreTsaeT erre: Fi: ATea?

BRI

58)

'TARSNH TAE TR o  ?

) Ert e rare i

REELEC FSIH |
) T TSI |
4 I TSIH 39 |

Correct Answer :-

| I 59 HSH |



™ g T RIgEEn T i g FETg 3.2
I.Eh?IT'Ll

) HUSHId |

iR |

, HUEH |

Correct Answer :-

AferaTd |

| TRy
REUEER]

Correct Answer :-

RcacticE]



